Practice Test 2

1. Givenfx}=x*2+landg{x)=x-1

a. Find (f+g}(x)

XLH + X I
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b. What is domain of {f+g)(x)

c. Find {f+g)(2)
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d. Find {f/g)(x) *

e. Whatis domain of {f/g}(x)

X 7 |

f. Find {f/g)(2)
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2. Using the inverse function property prove that g(x) is the invers of f{x) given
fix)=x+3
and

g(x) =(xgg 3)"5
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3. Which of the following explains how the graph of g is obtained from the graph of f?

f(x)=xzf SATEF ) lelt
“__ e
a. Shift tothe left 2, reflect across the y-axis, then move down 3 )r (x) - ( Shi k4 0,
b. shift to the right 2, reflect across the x-axis, then move down 3 vwn ))
c
d

X

Shift up 2, reflect across the x-axis, then move right 3
Shift up 2, reflect across the y-axis, then move down 3

e. Tt to the left 2, reflect across the x-axis, then move down 3

- )C(x) retlect g cross X~-dk/ls
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4. Write next to each graph which of the foliowing equations matches it.

A(t) = 10e®

And

A(t) = 10(1/2)%"*
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5. Answer the following questions about this graph of the function f.

[}

Find f(0)

iTU‘L ——Z/a/of’fmCA‘-"ﬁ C/lfeﬁ'(nf_ reach
b. Find f{-3)

¢. Whatis the Domain of f in interval notation.

[F4,4)

d. What is the Range of f in interval notation.

(‘3) 2] v (;/g’)

e. Find the values of x for which f{x) < 0

[*5/ O)
$6) ~ £ (-4)
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6. Use the Laws of Logarithms to evaluate the expression (log;10 + log.3) ~ log5.
Get to the form log.x, you do not need to calculate exact number.
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7. Circle graph of the function f(x) = x(x-2){x-1)
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8. List all of the following graphs that could represent one to one functions and explain your

answer.
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6 )} Y 2
9. Given the quadratic function f{x) = -4x* +16x - 11 - B - Lf
2

a. Expressitinstandard form -~L[x Z +l€>< _” _— k( . (_/ = _,/G

(=Y ) -

Afeing Hie §
afdet~{§ & ¢ Fapction
feel) +4 ads 1t tobalane

rory.

Negate

b. Findthevertex (2, 5)

c. Graph the function
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d. What is the domain in interval notation,

7. )

e. What is the range in interval notation.
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